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Geometry: Langley's Problem

6 6 e © 2003 Antonio Gutierrez

‘ ABC: isosceles
B=20°
ACAD =50°
A\ ACE =50°

@ 1. | ABCisosceles: . AA=MC =80

© 2. [\ AEC isosceles: DAEC =50° . OAE =@AC
e: AADE: ‘ ADC =40" {sum of the angles in a triangle)

@ 4. O4F = OAC (construction)
:. WAFC = MC = 80° and = CAF =20°

é 5. ;ﬂﬂFD isoceles because B DAF = AADF = 40°
. OAF = ODF

i 6. [SAEF equilateral (@AE = @AF, [DEAF = 60°)

OCF = @AF = @AE and (MAFE = 60°

-, QoFE = 180° - 80° - 60° = 40°

ﬁ 7. <|DFE isosceles (@EF = @DF)
‘E ~dlD=x +40°

S (+40°) + (x + 40°) + 407 = 180° &
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The famous Langley problem is a type of problem called "Adventitious Angles" problem because it is a matter of chance
that we will be able to solve this problem. It appears to be an easy problem, but it is deceivingly difficult.
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